0612153

S 7110025
8210500

7410040
8210805

= 0011237
e
ol [T A&
- @ 0418020
0011991

page 1 of 2
Item-nr. |Description A
0612150 |trough stainless steel 150 cm floor 0612151
0612200 |trough stainless steel 200 cm floor 0612202
0612300 |trough stainless steel 300 cm floor 0612304
[ = = ]
- (_ -
(CHEI)
I o
o
[ee]
% rﬁ‘i-
Item-nr. |Description Number
0418020 |mounting clip 60mm 2
0606202 |support for stainless steel trough 60mm 2
0612162 |plug for stainless drinking trough 2013 1
1021075 |support post 60mmx75cm floor mounted 2
7110025 |hexagon-head tap bolt M10x25 galv 4
7410040 |hexagon-head tapbolt M10x40 stainless st 4
8210500 |self locking nylon nut M10 galv. 4
8210805 |self locking nylon nut M10, stainl.steel 4
A water trough ass.parts excl 1
trough stainless steel floor
I Number: 0612xxx-0
s p I I I e r Unit: mm
DAIRY HOUSING CONCEPTS Date: 18-6-2021

Drawing remains our property and may not be reproduced, shown or entrust to third party or used otherwise.
No rights can be derived from this drawing.




UK page 2 of 2
0612162 Item-nr. |Description A
0612650 |trough stainless steel 150 cm wall mount 0612151
0612700 |trough stainless steel 200 cm wall mount 0612202
0612750 |trough stainless steel 300 cm wall mount 0612304
7410040
8212805 [ RS
o a
o
o0
0613950 ""
7110025 (E_@;’ 0418020 A R T :
18210500 e 3 a . - )

Item-nr. |Description

Number

0418020 |mounting clip 60mm

N

0606202 |support for stainless steel trough 60mm

0612162 |plug for stainless drinking trough 2013

0613950 |wall support for stainless trough

7110025 |hexagon-head tap bolt M10x25 galv

7410040

hexagon-head tapbolt M10x40 stainless st

8210500 |self locking nylon nut M10 galv.

8212805 |selflocking nylon nut M12 stainlesssteel

A

water trough ass.parts excl

Rl NIRN

trough stainless steel wall mount

spinder .

DAIRY HOUSING CONCEPTS Date:

Number:

0612xxx-0

mm

18-6-2021

Drawing remains our property and may not be reproduced, shown or entrust to third party or used otherwise.
No rights can be derived from this drawing.




0612162

0690031

7410040

7110025
8210500

8210805

— I
! 0606202

-7

- rd
. ﬂ]@‘* 0418020
1021075

page 1 of 2
Item-nr. |Description A
0612155 |trough stainl.st.150 cm floor low press. 0612156
0612205 |trough stainl.st.200 cm floor low press. 0612206
0612305 |trough stainl.st.300 cm floor low press. 0612310
( ]
I g
_ fisi} EL s
Item-nr. |Description Number
0418020 |mounting clip 60mm 2
0606202 |support for stainless steel trough 60mm 2
0612162 |plug for stainless drinking trough 2013 1
0690031 |hose connection 1,5", pipe excl. 1
1021075 |support post 60mmx75cm floor mounted 2
7110025 |hexagon-head tap bolt M10x25 galv 4
7410040 |hexagon-head tapbolt M10x40 stainless st 4
8210500 |self locking nylon nut M10 galv. 4
8210805 |self locking nylon nut M10, stainl.steel 4
A water trough loose low Pr 1

trough stainl.st. floor low press.

I Number: 0612xx5-0
sp I I . e r Unit: mm
DAIRY HOUSING CONCEPTS Date: 18-6-2021

Drawing remains our property and may not be reproduced, shown or entrust to third party or used otherwise.
No rights can be derived from this drawing.




0612162

0690031

7410040

% 8210805
0

7110025
8210500

.

page 2 of 2
Item-nr. |Description A
0612655 |trough stainles.st.150 cm wall low press 0612156
0612705 |trough stainles.st.200 cm wall low press 0612206
0612755 |trough stainles.st.300 cm wall low press 0612310
[ aa T
° s
o
0
0613950 *
— @‘\9 0418020 A I T I T :
Y ] 4 4

Item-nr. Description

Number

0418020 |mounting clip 60mm

2

0606202 |support for stainless steel trough 60mm

0612162 |plug for stainless drinking trough 2013

0613950 |wall support for stainless trough

0690031 |hose connection 1,5", pipe excl.

7110025 |hexagon-head tap bolt M10x25 galv

7410040 |hexagon-head tapbolt M10x40 stainless st

8210500 |self locking nylon nut M10 galv.

8210805 |self locking nylon nut M10, stainl.steel

A

water trough loose low Pr

Rl RINRPL|N

trough stainles.st. wall low press.

Number: 0612xx5-0

spinder ..

DAIRY HOUSING CONCEPTS Date: 18-6-2021

No rights can be derived from this drawing.

Drawing remains our property and may not be reproduced, shown or entrust to third party or used otherwise.




